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Test

1.

‘Look at the dog! It is barking!’

Which of the following shows the sentence
above?

2.
I am a strong animal. I can carry
heavy things and I love running. °

Which of the following animals is talking
above?

A) horse
C) parrot

B) cat
D) sheep
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Which of the following DOES NOT complete
any of the blanks above?

A) money B) water

C)animals D) vet

. Jane
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Can | feed the
cat?

----.ltisn't
hungry.

—
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Which of the following completes the blank?

A) Of course B) Not now

C)Sure D) Yes, you can
Bob is a - - - - to work at an animal shelter.
People can - - - - money to help shelters.
A keeper s - - - - a dog right now.

Which of the following DOES NOT complete
any of the blanks above?

A) donate

C) volunteer

B) adopt
D) brushing

: Which animal is your favourite?
Philip: Can you guess?

Jane : Can it carry heavy things?
Philip: No, it can’t.

:Canitfly?

Philip: No.

Jane
Philip: Yes! Itis----.

Jane

: Can it swim?

Which of the following completes the blank?

A) fish
C) parrot

B) horse
D) dog

www.speeduppublishing.com



PUBLISHING
~

Hi, I am Judy. | am at an animal
shelter now. A dog is playing with
a ball and a cat is climbing the
tree. A keeper is feeding the birds
and a vet is examining the dog.

What can we do to help
street animals?

Which of the following DOES NOT answer
the question?

A)
We can put a bowl of water in front of
our houses.

Which of the following DOES NOT show any

of the sentences in the text?
We can feed them in the streets.

C)
We can play with street animals.

We can make shelters for them in the
streets.

10. I Canlgetananimal?
Il What is the bird doing?
. The table below shows what 3 animals can or Il What is the keeper doing?
can’t do. IV Can horses fly?
fly run swim
a Itisflying.
- b 4 4 v
b Heis cleaning the barn.
S v/ X b 4
c No, they can't.
- X v b 4
d Of course.
Which of the following animals completes
the table in the correct order? Match the questions with the answers.
A) horse — parrot — dog A l.d-ll.a=1lll.b-1IV.c
B) parrot — dog — horse B)l.a-Il.b-1ll.d-1IV.c
C)dog - horse — parrot C)lb-Ill.c-lll.a-1V.d
D) dog — parrot — horse D)l.d-1ll.c-lll.a-1IV.b
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